1. Create a program that concatenates the first six characters of strings1 to strings2.

2. The user enters a sentence your task is to output every word on a new line.

3. Enter several strings and determine the length of each string by outputting the length of the strings.

4. The user enters three sentences and all of the letters are lowercase. Find the first character of each sentence and convert it into uppercase (use the function toupper – you may want to refer to slide 17 from the last power point presentation).
5. Enter 10 letters. Use the swap function to order them alphabetically.

6. Summary of the string manipulation functions:

	Function
	Purpose
	Syntax

	length
	Returns the length of the string
	str_name.length()

	substr
	Returns a portion of a string
	str_name.substr(starting_position, length)

	compare
	Compares s1 and s2, returns 0 if s1 and s2 are the same, -1 if  s1< s2, 1 if  s1 > s2
	str1_name.compare(str2_name)

	swap
	Swaps two strings
	str1_nameg1.swap(str2_name)

	find
	Searches for a substring. Returns starting position if the substring is found, max size of a string otherwise 
	str_name.find( substring)



	erase
	Erases all the characters starting with a particular position
	str_name.erase(starting position,ending position)

s1.erase(pos,n)

Erases a sequence of n characters starting at position pos. Notice that both parameters are optional: with only one argument, the function deletes everything from position pos forwards, and with no arguments, the function deletes the entire string.

	append
	Appends (concatenates) s2 to the end of s1
	str1_name.append(str2_name)

	insert
	Inserts one string into another
	str1_name.insert(starting position, str2_name)


 7. Write a program that reads a series from the user and displays only those strings that start with the letter “b”.

8. Write a program that reads a series from the user and displays only those strings that end with the letters “ed”.
9. Create a program where you can use the functions insert and erase.

10. Create a new word by concatenating three strings using the function append.
1. Censor

The Society for Prevention of Profanity on the Internet has observed a growing number of

chat lines on the World Wide Web. A chat line allows a Web user to type lines of text

which are transmitted to all other users. The Society is concerned about the number of four letter words being transmitted by these chat lines and has proposed the mandatory use of

software to remove all four-letter words from every transmission. Your job is to write the

software to do this removal.

The input to your program consists of an integer, n, on a line by itself, followed by n lines

of text. Each line of text contains words separated by spaces. Each word consists of letters

of the alphabet and exactly one space separates adjacent words. There are no spaces before

the first word or after the last word on each line. Lines do not exceed 80 characters in

length.

The output from your program should consist of the n lines of text, with each four-letter

word replaced by four asterisks. The lines should be separated by one blank line.

Sample input

2

The quick brown fox jumps over the lazy dog

Now is the time for all good people to come to the aid of the party

Sample output

The quick brown fox jumps **** the **** dog

Now is the **** for all **** people to **** to the aid of the party

2. Poem

A simple poem consists of one or more four-line verses. Each line consists  of one or more words consisting of upper or lower case letters, or a combination of both upper and lower case letters. Adjacent words on a line are separated by a single space.

We define the last syllable of a word to be the sequence of letters from the last vowel(“a”, “e”, “i”, “o” or “u”, but not “y”) to the end of the word. If a word has no vowel, then the last syllable is the word itself. We say that two lines rhyme if their last syllables are the same, ignoring case.

You are to classify the form of rhyme in each verse. The form of rhyme can be perfect, even, cross, shell, or free.

· perfect rhyme: the four lines in the verse all rhyme

· even rhyme: the first two lines rhyme, as do the last two lines

· shell rhyme: the first and fourth lines rhyme, as do the second and third

· cross rhyme: the first and third lines rhyme, as do the second and fourth

· free rhyme: any form that is not perfect, even, cross, or shell

The first line of the input  file contains an integer N, the number of verses in the poem, 1  N  5. Each line contains at most 80 letters of the alphabet and spaces as described above.

The output should have N lines. For each verse of the poem there should be a single line containing one of the words ‘perfect’, ‘even’, ‘cross’, ‘shell’ or ‘free’ describing the form of rhyme in that verse.

Sample input

1

One plus one is small

One hundred plus one is not

You might be very tall

But summer is not

Output for Sample input 1

Cross

3. Problem - Substrings

How many distinct substrings does a given string S have?

For example, if S = "abc", S has 7 distinct substrings: {"","a","b","c","ab","bc","abc"}. Note that

the empty string and S itself are considered substrings of S.

On the other hand, if S = "aaa", S has only 4 distinct substrings: {"","a","aa","aaa"}.

The first line of the input file contains N, the number of test cases. For each test case, a line

follows giving S, a string of from 1 to 1000 alphanumeric characters. Your output consists of one

line per case, giving the number of distinct substrings of S. Try to write an efficient program.

Sample Input

2

abc

aaa

Output for Sample Input

7

4

